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Important Rigid Body Formulas
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example : EEG FILE

If we know F- we can compute the velocity
anywhere on the body .

# city is least

velocity: E.gs#.a*EIIIIoai.
[

⇒ velocity .

accelerate :

.gg#t.PF.jy...a+=a+EEEE
Helargest

somewhere in # rd
quadrant

.



Recallthefollowiyf.com#
:

yflx
)

k =p .lt#
-

( Itf 'kP )
"

=x
examples. |€¥÷tt*oE±EIg ,

¥±¥¥*I.IT#E*eIoiI:ts;
find I

a

E. = #+ K×rIp - wirao

cow
-

-

z scalar equation Eec = EB+£z×%=ETBc3 scalar unbowedat # xT.no - wits @ + Extra - WITBO

Need some other relationship between the was :

( from
last keke

→ Ea = sent + ¥£ g. thin-
. ✓

we know from last lecture :

en, = ¥ ( a + zg )

En .E+=o , points in : et End + tap -= tatty )

apply the curvature formula :
K - ftp.H.YI#pz=(.3E.fk
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Substituting
duck into s.sk

the Ec expression :
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=D solve for j and xz



Generaloeameplauio
write down the velocity and acceleration

relationships between the points of interest
.

° use the rigid body couplings and geometric
constraints to reduce the number of variables

.

0 solve the
remaining equations .
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